






































































EJEMPLO DE REGLAS DE GARP

The number preceding each rule (e.g., the first line here with numbers in it) gives coded information on:
Rule number, Rule type, Prior, Post-accuracy, Significance, Coverage, Usage (respectively)

5 r 0.50 1.00 29.52 0.22 0.620
IF - clim_01*0.25 - clim_02*0.01 + clim_05*0.17 - clim_20*0.23 + lith*0.26 + clim_06*0.21 +
clim_07*0.36 + clim_08*0.13 + clim_09*0.03 + clim_10*0.34 + clim_11*0.26 - clim_12*0.34 -
clim_13*0.30 + clim_14*0.06 - clim_16*0.04 + clim_17*0.07 - clim_18*0.45 + clim_19*0.08 +
clim_21*0.37 - clim_22*0.46 - clim_24*0.15 - clim_25*0.17 - clim_26*0.38 + clim_27*0.46 +
dem*0.04 + topopos*0.02 + wetind*0.41 - lat*0.01 - long*0.28 - evc*0.10 + slope*0.03 -
geol*0.09 - gully*0.26 + aspeast*0.04 - aspsouth*0.50 THEN species=ABSENT

19 d 0.50 0.85 16.58 0.14 0.023
IF clim_20=[14.9,15.5] AND clim_07=[20.3,25.3] AND clim_11=[4.5,9.2] AND clim_13=[105,178]u
AND clim_17=[184,262] AND clim_19=[334,485] AND clim_21=[24.5,25.4] AND clim_22=[5.9,6.6]u
AND clim_24=[7.5,13.5] AND topopos=[-82,48] AND wetind=[-2.2,23.1] AND lat=[-38.06,-37.10]u
AND long=[145.31,146.31] AND slope=[1.1,17.0] AND geol=[ 1, 5] THEN species=ABSENT
0 m 0.49 0.95 41.47 0.50 0.013 IF clim_01=[6.8,12.7] AND clim_02=[8.8,10.8] AND clim_05=[20.2,25.1]
AND clim_20=[14.9,15.3] AND lith=[ 3, 6] AND clim_06=[-2.4,3.4] AND clim_07=[21.2,23.0] AND
AND clim_17=[205,282] AND clim_18=[213,308] AND clim_19=[288,519]u
AND clim_21=[24.5,25.2] AND clim_22=[6.0,6.5] AND clim_24=[9.4,13.5] AND clim_25=[21.2,21.4]u
AND clim_26=[22.9,23.9] AND clim_27=[7.3,7.5] AND dem=[437,1387] AND topopos=[-70,109]u
AND wetind=[1.4,14.7] AND lat=[-37.93,-37.67] AND long=[145.62,146.36] AND evc=[11,30] AND
slope=[-4.4,32.7] AND geol=[ 3, 5] AND gully=[ 0, 1] AND aspeast=[-0.95,0.86] AND aspsouth=[-
0.91,0.93] THEN species=PRESENT
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